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CONCEPT-01 (BODMAS Rule)

This rule is the basic principle of solving
algebraic or numerical expressions.
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Order to solve/7d @74 & wW
B — Bracket ( #a )

O — of (1)

D — Division ( 9T7T)

M — Multiplication ( 70T )
A - Addition (¥1%)

S —» Subtraction ( 92T )
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Types of Bracket & Solving order

COMPLETE [ l;V ¥y K COURSE (For all govt. exams ) ey ADITYA RANJAN SIR \

2. Evaluate the following 5 - [96 + 4 of 3 - (16 -
55+5). 10 (6-1D
- 5-106 + & of 3)- (16 - 55 + 5)] = =T 7 Hifw

N - /. (a) O (b) 3
(i) - Vinculum/Line/Bar bracket ( 7@ f §-L o) 3
HISE ) ;
(ii) () — Small bracket ( 121 ®Ia® ) \
: \ .
(iii) {} — Curly bracket ( W& ®:Ia® ) g N -~
HISF ") =5-(Qg219_ rn ODMA ¢
(iv) [] — Square bracket ( ¥ HI=F ) 12 e
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1. Thevalueof11 x 11+ 11+11-11x11+11 3.  Simplify the given expression.
+11%11-11-11 x 11 is: f e @ W A Yxk
©. S+3H+(-26+243 i 11x11+11+11-11x11+11+11x11- 18+ 3mE2 x 5+ 72+ HEMER x 3-4+8x 2
e %9 e — 2
9+300"1+ (4-2)x5 =5 Veosmas RS S TR S WSSC CGL 14/07/2023 (Shift-4
St SSC CPO 03/10/2023 (Shift-01 =
(a) 121 (b) O 20 (b) =
{e) 11 \9/1 dst 3
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2 4. Simplify 6. If(48 +72 x 3)-[15+ 8 x (40 - 32) - 10] + 2P
o -
Neopmas Frefefaa & W 3@ w1 ® =6+ 2, then find the value of P?
2.5 x [144 + 198 x {121 x 81 + =E9)]] Tfa (48 + 72 x 3) - [15 + 8 x (40 - 32) - 10] +
SSC CGL 17/07/2023 (Shift-01) 2P= 6 + 2, Al P & WA ¥ Wifww?
_im 180 (b) 175
(c) 185 (d) 190

SSC CPO 03/10/2023 (Shift-3)
(¥8:1213). o0 ) om

3 (9% - (is-8x(4032)-10] 420 60
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5. Simplify./fm= = W= W W=

COMPLETE|

ATHSEOIES A govt. exams )

sy ADITYA RANJAN SIR

& = {_L3_+%§2Lgf.|q5x( +%) 7. N.lnd the value of the given expression.
Yooomas 325 + 276 + [150 - [9 x 9 + (83 - &515)]] 3 —- #r fau T wwE W WA A
P 3 e e
(a) 332 (b) 333 - n -4 [43+33x15+34x[1 +13J]
(c) 334 _I#r331 = -l *ﬁ"%’%"% [2 = 2]
* x
8 _} 3 6 3
32'3+216'—,Et90-{qxq+§3ﬂ - (\s) . E :%l
= 3‘28-\’215;05‘)40% _5,,_3_,‘3"*_5\}%’_’ 6 &
=3 e ) 115
~ %4y 8 T
o 3546 T lss (e 143
- 33. 8
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8. Simplify the following expression
fau v =wE wE Fifaw)
25-[16-{14-(18-8+3)}]

Jal 16 (b) 18
(c) 15 (d) 20
) -~(le- {14- (18- Y]
: 92s. [15_{“, _-]1]]
.25 l6q
a3l
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1.:3
10. 1f A = 3.x47 + 34 -

1 1 11
B= 2§+5§ + 55 - then what is the value

10
= B4y - e

30 3 @ of A-B?

wh A= 3lxel . oae - B Mo

8:5.-»_5.-35-_& R 32 16

r 'u s 1.1 11
= S+Mxl - - +55 - TLAA-

2 l{_-s,ég_l% .&_.%kn 2,487 + 5510 B, AA-B W W W 7
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sl | 0

® o s

CONCEPT-02

(A)
a? + b? = (a + b)* - 2ab
a? + b? = (a-b)?+ 2ab
a?2-b2=(a+b)la-b)

8y ADITYA RANJAN SIR ‘

] 11. Simplify the following expression.
°i;q Prferfas s 1w w @) (a46)% (a-b)" = Q4bhgarTakt.208" = 2a%e?)
; 7l :
ug -
= 5110 X Q60Xes- (a+b)™ (a-5)% = (O%b-+2ab)- (a%b>2ab)
14 X Xige— < = X
- At~
= oy Jay204 (b) 320 = iﬁf&qé
(<) 225 (d) 304

Q:'_@ = LQAb)(ﬂﬂ))
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(atb)*+(a-b) 12. Simpify: (atb)*+(a-b) 12. Simpify:
a*+b* oot @1 T wirA a*+b* oot @ | A
S 2,2 Q b Q b
= Q—H’M (379 + 276)° + (379 - 276)° = g_?ﬁ (379 + 276)° + (379 - 276)°
a%b* 379 x 379 + 276 x 276 M 379 x 379 + 276 x 276
= & ﬁq SSC CHSL 11/08/2023 (Shift-2 [SSC CHSL 11/08/2023 (Shift-2
(oY M (b) 655 al (b) 655
= g (e) 103 d) 1 (e) 103 d) 1
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13. ;i;ﬂpﬂfyrth- given expression. 3 02-b* = 1-K 15, The valye of Q
I 0 WA T AETET w i T Q
ol B 835 e Goodsbor o
+ s - \ - i
3 (o-b)@se)” = i-k Lﬂ}) +42.331 + 14(0.667)(2.331)
826 %.222) (@) wherek 27 B Rab
ISSC CGL 18/07/2023 (Shift-01) s 2 " .
1 a 2338 - 4. __4.669x4.669-9x(0.777)"
::: 3 \{:rﬂ =060 K (4.669) + (2.331) + 14(0.667)(2.331) ' 11
1000 (1-%) &, fomld k=7
: %} J 0o
t‘_l‘o-'saq \[,}(666 (b) 0.647
<= °'565 e (c) 0.467 (d) 0.768
V.Y W s &Y COURSE (For all govt. exams ) sy ADITYA RANJAN SIR } oisl " 2 _(0.13) +(0.21*
% 2,2 yil%eaxeyk3+(3)* T T TR0 {0.39) + 81{0.07)
9 .0 +osl 14. The value of /&1 W9 714 &1 ab ab” {29+ i R R
—Q'OL b2 153 O @.325) 0.325 €6.178% 0.175 m*ﬁ (3074 () @97 2x3q24) )+ 2x24)x3 *@ Gl ns e as lesb w
5x0.0065x 3.25- 7 0.175x0.025 1.5 5 w3 T #?.-:n"t?
= .Q;'g)(ﬂ-fb) + 4 - o4bt i1 0% 2xcxd 4d SSC CPO 12/12/2019 (Shift-01)
(o-b)lgssy 3 11 : Ga'tqr  C2rdic?+d’ (a) 0.7 and 0.8 th) 0.4 and 0.5
o [ (b) 3 \ \9{0.5 and 0.7 (mm 0.5 and 0.6
- Os +4 T - = 5 2
ey * (c) © @ 5 [CTy g ley (';‘l) ;c
= Joyy . +oRs  omy & i
-] % & -g: -_g's_"_s__ - o.._.é qX_ci_ \ (?'“)“ﬂxa
00 ‘BTEE &y 3 8 G e 'qxa~‘{¥2+{3 - 28 WYxg ux3
A b '
X|D
= 6y

—IBB C0-6q
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(B)

(a + b)(a? - ab + b?)

(a - b)(a? + ab + b?)

aa +b3

a®-b?

(% b’)= (048) (0*b™ab)

(05?) = (a-5) (d4"408)
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Q | »
20t ab 17. Simplify the given expression. M 03+ l:;3 ®75) 5 (325X 325 x 325
—0tp=0> 2_p? 18. Simplify: 2 0 20 SHOTIMETENS -
0'3+b'5 ﬁummmmaﬁ- T (0.83)" +0.083+0.01 _0_19.+E -ob . x + 3215-67)5x32.5 -
o+ abip e o o 100 o0 t ol 10 1o xig
= { @ 432 +x 247 432 %247 55 6.83) - 0.’ -
(Mb)(g_u?-ubj' T{@m)  432x432x432 1247 %247 x2 = _(a-b)(@s8ieaby whe 10,083+ @N2" 7 - (o4n) (glex 675 x 675 x 675 + 325 x 325 x 325
m JEUTT ‘ 1 (sl 67.5x67.5+32.5x32.5-67.5x32.5
- . SSC CHSL 14/08/2023 (Shift-2) % A tb"=Tb) e 213 B &
619 R 2 3 = 043 (a) 0.98 (b) 0,27 100 10,000
(=) 2:9 (b) 155 (c) 0.93 (d = loo(a+v) ::} 1,000 \E;*I,O0,000
N @ 450 .98 e
0.5 = looooo
ey B
CcOMPLETE | Y ¥ 3 &Y COURSE (For all govt. exams ) BY ADITYA RANJAN SIR GGINaNyaMATHSEG IS A govt. exams ) sy ADITYA RANJAN SIR }
19., Thaips ol it 675 x 675 x 675 + 335 x 328 x 325
6.013F + (6,007)0.000049) 20. §7.5x67.5+82.5x32.5-67.5x32.5 1 *Iual
(0.007)* + 0.013(0.013 - 0.007) o
e 1) e 675 x 675 x 675 + 325 x 325 x 325
(o' = o1 R 67.5x67.5+32.5x32.5-67.5x32.5
Sl (a) 0.07 T 0.02 foorfafam & & fros wwmar &
(o |)3 : 004 (c) 0.06 (d) 0.04 (a) 100 (b) 10,000
01)? - o 1,000 1,00,000
((oln,))q . 0.001 Qz*bq "—OﬁlL\g - (©) \L
M = o, ;
o0y Fial-p) (Blaoi o (et X1oo
Q°+H'-qb
0|‘3

00‘!

= (01’{;)(;." 2
Xibo -
e ﬁw = 1000x100
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% X100 _ gxip% a 3 y ¥,
[-Tal_ba_;j = H1. Fhn wilae ol (251)" +(249) beéﬂ mlﬁxo-l 22. What is the value of /@1 W= 71 &ifaw) 03+b’a+C3-30b( 23 SImlUy,fW -
Q- ab+b' 25.1x25.1-624.99 +24.9 x 24.9 ) - T, S T . :
is 5 x 10, where the value of kis . (o215 (04 (-2x039) 0.74x1.23x0.13 Q'+ +¢ -ab-be-ac 3:321) +(2.681)° + ({.245)
= (0.37)° +(0.41)" - 8(0.39)" (3.321)" +(2.681) + (1.245)

- (adbs) (@4B4E2~0b- be- ac)

(] lﬂqﬂq -5. = <
3 Lo X100= Sxio Ioox@‘- & WA S x 10%,

~-3x3.321x2.681x1.245

b (]-624.99 24 ! eg(ﬂiii 5
E aad ;s':g; :sm ::. in“ xRt = L X0, g _ (@ HCGbr=a] ~(3.321x2.681) - (2.681 x1,245) - (1.245 x 3.321)
9  Soooo:= Sxip% NEL  ms 3‘193'6(}‘(()((-}1%‘)’ N (k) 1 = Man SSC CHSL 04/08/2023 Shift-01
D Syil=sxiple e L e =z E (a) 6.125 (b) 8.645
Y104z Sxig &) —75 ) -1 ” % (e} 7.247 (d) 10.245
@ %._ 3 \/’! q
(@)= 8 (2% _g 4% 3ac (00b40) [y .
(3y- 3% ¢ Qk“bc-qd
¥s & (33 -2 581
4L
1987
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(C) 22. What is the value of /=1 W 71 T 24. Simplify the given expression.
c
Ifa+b+c=0 0.74x1.23 013 (805 80 x 80) + (705 70 70) 150 50 x 50) ~ 840000
(0.37)° +(0.41)" - 8(0.39)° 6400 + 4900 + 2500 - 5600 - 3500 - 4000
then = a® + b® + ¢* = 3abc =-1 SSC CPO 11/12/2019 (Shift-01) for o s @ W i

Sppy) 3 - SSC CHSL 10/08/2023 (Shift-01)
@+ (3P+6sP = @O 3 ™ 2 (a) 100 o200
(c) 400 (d) 300

*8+oy.n - (e) -1 @ + 8,3

* 3. : bt 3 ’ %?5—3'—33"—: (404 (@484dqF ()

i (@)= g R N ¢ Vv :

.. (3)3_ » by —
: e



8o, Type Quitions CONCEPT-03 (Bar Type Questions)

proot .
© Ttmtng_ & @ %=07 26. Convert0.7777......... oo into fraction
— %A= OCTTIN- - - —D =07 = q =
148 |lvo 11:30 advane  (Simplification) NP ‘iﬂs(: b e 0-7 TyWed 0.7777......... oo I To=1 o ==l
§:30 5 avithmari ( #) il 0%:111777. - _ oo B %‘ 7 7
W e 0833 3100z V4097791 - o A o (b) 3
85060 o D o X | ek 7 77
e R Q15 ? ey - (€) = ) —
ST 03- 1 10 99
=1 q
9
COMPLETE |y l;¥¥: K] COURSE (For all govt. exams ) ey ADITYA RANJAN SIR } Tﬁ?_‘ 1 COMPLETE | -V N3 K COURSE (For all govt. exams ) sy ADITYA RANJAN SIR }
25. Simplify the following. 03 —__%’% 27. Convert 0.535353............ oo into fraction
B @+ b° Freafafam = wrefeor Fifm 0.535353 = i # wdt
- T b CHILEL] D IIIDDesssssnssnns ao ﬂaﬁ
9s(a’-ab+b?) /0.01% 0.01 x 0.01 + 0.003 x(©.003)x 0.003 oqis = s O=31'= ‘%E,%
= _(a4b) (a"4pan] 0.05x 0.05 - 0.015 x 0.05 + 0.015 x 0.015 999 53 b 53
25 (aths 25 (0-01X00I~ 0-003X0.0| + 0-003%0-003) M) 5 b) 2o
0313 = 3up s .
= o
AL L — W ot " @ 55
S 00 (a) Exlo (b) E>c1()
H* ws 13 13 T08ee.-
(e) Exm’ @/ﬁuo’ F0g
° 8

"



Type2:

- 0.118 0-24%
0235 0-25
239-2 118-11 2yq-2
Twicic: 23;50_2 A% ~ 900 990
= 233 = 21 L =( 9y,
990 990 %
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28. Convert it into vulgar fraction
0.587
5845
990 93 . o
9879y g7 ®)1es
990 Ies
95 91
(e) 167 (d) 165

COMPLETE|

Tupe3:
%= 00123 — e
- Twick: o= 1955 Twiek: 1234-12
e == ' = Qo
= 2 -
%-06123232323. . . _co WD = 14023
C (m-a)
CImx: 23303 _ _ w0 —-© Qns= Q123-01 s
() = lxom oo * 14 g3
m@x= 123_2 =129 — 990
"?3+3§§n' w80, A} "%0p 04239
- R Qqqg
T (L2
:%0!: 127 Ja'gol
e R -
oy
ATHSEOIES A govt. exams ) sy ADITYA RANJAN SIR }
0.065G 29. Correct expression of (0654 . (the bar s 4.352 o. 6.373
indicates repeating decimal)
654 -6 0.0654 T TE = & (AW FvTHeT W G 4 J352-73 9%
Gq00 =t Tvta £): s = —?_52
22 LB_ INTPC CBT-2 19/01/2017 (Shift-1) = ——I—Q.B, a9
Lo ovg —— qu
654 654
@ 1000 ®) Toooo
18 18
278 @ 277

1222

—_

q

0
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30. Correct expression of 1,427 . (the bar indicates

repeating decimal)
““*Eq“q;"‘ 1.427 &1 TE WTEET0 & (AW IvHeE ® g
=l 1S W
Qa0 |lo INTPC CBT-2 17/01/2017 (Shift-3)

1427 57
() Toor N
1427 157
() 0000 9 T2

V.Y W s &Y COURSE (For all govt. exams )
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31. 2.8768-="7?
= 28168-28 878 9
%90
= as8 (a) 2559 ®) 275
-Qqq.y 333
0 2% 5292 54394
E Net 2333 @ 22505
) 9s8(2
S5
by
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32. Find the Value of x/x & U FA wifad

COMPLETE | VN3 &Y COURSE (For all govt. exams )
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3.245+1.234 - 2.12is equal to:

A%,

NE T R 3.245+1.234 -2.12 =TT § -
ICAR Mains, 08/07 /2023 (Shift-3)
a) 3 b) 5 A e
() a : d: g (312,358 BE ) 2.437
Jef T =L
5 (c) 2.243 _%%%L (d) 2,536
145 +6
99979 R + 100D - giy.
o 3 - 0 qu ‘%:EL
v A = 2+ hoy
222 .3
2y s . Mo e S

COMPLETE |
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33. The value of 0,56 + 0.43 + 0.89 is

COMPLETE | -V N3 K COURSE (For all govt. exams )

By ADITYA RANJAN SIR }
35. Find the value of/ HF T ifad

0.56+0.43+0.89 F A &

INTPC CBT-1, 23/02/2021 (Shift-01)

0.2 + 0.3+ 0.32

(@ 198 1 (b) 1.87 (a) 077 (b) 0.82
\Ml'ﬁ %g. 1.88 ‘eeqa| :-j%} (c) O.E \m O.ﬁ
S6 243
N TR
= (88 24343y _
9 T 8

%9



36. Find the value of/¥T WA Fd Fifad

324.786 -10.193

COMPLETE |

(b) 314.59445
W 314.59445

gwes-B:uj_ Fom- QH]
909 00 -
108154 2058 I 314.59345
Eﬂﬂq’)(-q;’ﬂ'j 91" 314.59345
333 po S18.89
il
. 3@
10415967 o 314278g¢
3300 9900
yick:
g [T
x 99 x99
g9
07
22 77 Gl
3uxaq

ATHSEOILE S (For all govt. exams )

309 +4lL + &9 37,
qao 990 Qo0

* REL e

= 7200+ 3069
Qqo0

= 4
Q909 100

CcOMPLETE | VN3 K COURSE (For all govt. exams )

+ O ulsIsIS
+ 0- 3089999

37.

1.03 1272 6

= 1.0372

= lo3n-io3

- 990

10969
T

900

21iyy

Ty
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If A= 0.312, B = 0.415 and C = 0,309, then
what is the value of A + B + C?

22.4 +11.567 - 33.59
224-22 + 11861115 -335
q qqi Qo )

afd A-0.312,B-0.415 7@ c-0.309 . A Wi o AiE
= 92 -
vsic ot o age 0%
1211 1043 3420 : 22200+11482-3326Y 5
fosiomcerle Al el DL ) I -4 =yo
® 1100 ®) 1100 a 9% - T

1097 \‘}’/\141 g‘to
© 1100 1100

sy ADITYA RANJAN SIR }

If A= 0.312, B = 0.415 and C = 0,309, then
what is the value of A+ B + C?

22.4+11,567 - 33.59

afd A -0.312,B-0.415 791 ¢ - 0,309 ¥, A

(a) 0.412
w1 w fawa 7 o
A+B+C t \19’ 0.412
1211 b 1043 T Too o
@ 3100 ® 1100 —90 points:
O maym

1097 1141 Q mqym =

© 1100 M 1100 ¥

38. Find the value of/@1 = 714 #ifad

SSC CGL TIER - 11 11/09/2019

(b) 0.31
(d) 0.32

38. Find the value of/@1 W= 714 #ifad

SSC CGL TIER - 11 11/09/2019

(b) 0.31

W 032
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39. Find the value of/¥1 W 719 &ifad 40. Find the value of/@ w9 Fa wifod 42. Find the value of/#T W 7 #ifaa
0.57-0.432+0.35 0.47 + 0,503 - 0.39x 0.8 (2_4,(0_6,(3,(0_16),([0_27‘(0_33 +0.16)]
SSC CGL TIER - I1 16/11/2020) SSC CGL TIER - 1I 13/09/2019
o — o — | SSC CGL TIER - II 15/11/2020
Dy - (b) 0.298 (a) 0.615 (b) 0.615 2 o =
" b \y/ 9 (a) 0.814 () 011
c) 0.498 0.494 (¢) 0.625 (9Y 0.625 .
@ " 2 (e 11 (d) 1.36
+ Yag XE X g
W Qo 36 % jod XIE x X 3
b Qg x99
¥ ; qrT s
9

bary §
To hovq 1
ok

Qs - O-OEE .
:lz'w"‘ifqg . %
0 0
I

8y ADITYA RANJAN SIR }

COMPLETE | -V N3 K COURSE (For all govt. exams )

V.Y W s &Y COURSE (For all govt. exams ) 8y ADITYA RANJAN SIR IS ana v AMATH SE S A (L et sy ADITYA RANJAN SIR
39. Find the value of/® WA 4 i _ %)~ Find the value of /%1 =T 71 Fifwd 43. 2.75+3.78
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45. If O.xy = ﬁ , find X + y? =? Cwoss Mypication.
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CONCEPT-04

(COMPARISON OF FRACTION/first &t ge=m)

Cross Multiplication Method |

Which fraction among the following is the
least?

frofafeaa § 4 Fm-w fa= gaq ge §7
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47. Find the greatest of the following fractions.
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48. Which of the following is the largest fraction?
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LCM METHOD
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}f\}; ﬂ\)% + g _§|' 49. Find the greatest among
» 1 ~ ‘¢ & - - ry
5 XM sxu, w1 gxy frafafea fu=t & ¥ waq o fa= 3@ =it
RPF HCM 23/02/2023 (Shift - 01) TR TR R T T
o as W 20 a<ay 2'7'4%7
@ 321 ® 1o 2§ 25 2§ 23
+ 8 (a) i (b) 3
sl = k)
\M/g @ 33 2 7
- W5
() 3 G

COMPLETE | VN3 K COURSE (For all govt. exams )

ey ADITYA RANJAN SIR ‘
50. Find the smallest among
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 PROPER FRACTIONS

Numerator of the fraction is less then
denominator or we can say value of the
fraction is less than 1.
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To compare/q@1 & fem:

Step 1: Take the difference of N* and D" of each
of the fractions. /um& fa=t & afwr awm &7 =0
3 T FW w

Step 2: Difference must be same. If the given
difference is not same, make them same by
taking LCM of each difference. /3 #HE AT
wnfew) afe afT 7R T § A e 3 @ WA
T TH WA T A

Step 3: Fraction with smaller N* will be least
and fraction with greater N* will be greatest./
T UHT WA AW 69 A fom waa eEt am
srfaaRan i @t o= Tam @ goin
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Ex: The greatest value among the fractions
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51. What is difference between the largest and the
S
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52. What is the difference of the largest and
smallest of the given fractions?

&1 g st @ | wad Tt of wad o fu= = st
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i ) 5o N
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IMPROPER FRACTIONS

Numerator is greater than denominator or value
of the fraction is greater than 1.
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To compare /T & fom:

Step 1: Take the differecne of N* and D* of each
of the fractions. /W& fa=1 & 391 791 &7 = afav
A W

Step 2: Difference must be same. If the given
difference is not same, make them same by
taking LCM of each difference, /3@ @am &A1
=nfgw afy siar wom TE E A W A W A,
T I AN W A

Step 3: Fraction with smaller N* will be
greatest and fraction with greater N* will be
smallest. /30 W WA =gAa8 3497 @ fa= wad
=t aan sifawan 3w arelt fu= wa| ot grin
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Ex: Find smallest and greatest fraction
mﬂ’# BT 3T :rm‘x =T fa=r 7 =4
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Ex: Find smallest and greatest fraction
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BASE METHOD |

(i) When denominator is equal.
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Fraction with greater numerator will be
greatest and vice-versa.
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(iii) If we increase N' and decrease D', then
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€x- (ii) When Numerator is equal.
(48332 < SSG[ N T vauer D e resultant fraction will be greater.
365 q123 s afiagge DR volwlT afz ¥4 N° & wgE § 3T Drw wew E, A uftomd
L @, ;, E'@S ﬁi=l’ Nﬁm
Fraction with smaller denominator will be i 1 = Q== 03 wr T
greatest and vice-versa. ( ' 234 D4
B2 &7 aren fa= wem =gt wrm e e fawda
et wm
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@ QQ(C Method (iii) If we increase N* and decrease D', then (iii) If we increase N' and decrease D', then
/-—-\ resultant fraction will be greater. resultant fraction will be greater.
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(iv) Ifwed
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(iv) Ifwed N and in D’ then resultant
fraction will be smaller.
ofs ¥ N° @ wend afr D* w1 =gnd A wfromd
fo=1 grer &1 wmam
N T N
e.g. (i) 11> BT @ Vi
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N and in
fraction will be smaller.
ofs ¥ N° @ wend 3fr D° & =egnd A wiromd
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Ifwe d N"and i
fraction will be smaller.
afs ¥8 N* & werd ofit Dr = @gw & uftomd
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If we increase N and D" together or we
decrease N' and D" together than the resultant
fraction can be increase or decrease or will
have no change that can be determined by
using percentage change.

afz ¥9 N* 3fr D* =1 v wWg @@ £ @ gw N ain
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If we increase N' and D" together or we
decrease N* and D* together than the resultant
fraction can be increase or decrease or will
have no change that can be determined by
using percentage change.

afs 79 N* 3T D" =1 U% W19 =g € O 79 N* afw
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If we increase N* and D' together or we
decrease N' and D" together than the resultant
fraction can be increase or decrease or will
have no change that can be determined by
using percentage change.
ofz g9 N 3fw D" &1 v% =g =g § @ ¥9 N- ain
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(v) If we increase N’ and D' together or we
decrease N and D' together than the resultant
fraction can be increase or decrease or will
have no change that can be determined by
using percentage change.
afs 79 N* 3T D* =1 U% W19 =g § @ 79 N* afw
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CONCEPT-05

(Ladder Fractions)
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Confusion Tupel:
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